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Among the five geographical divisions of the Tamil country in Sangam
literature, the Marutham region was the one fit for cultivation, as it had the most
fertile lands. The prosperity of farmer depended on getting the necessary sunlight,
seasonal rains and the fertility of the soil. Among these elements of nature, sunlight
was considered indispensable by the ancient Tamils.
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Language — Part II — ENGLISH

Time Allowed : 3.00 Hours | [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack
of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline.

PART -1

Note : (i) Answer all the questions. 14x1=14
(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

Choose the appropriate synonym for the italicised words.

1. Navika Sagar Parikrama was a project undertaken in consonance with the National
Policy.
(a) connection (b) agreement
(c) comparison (d) arrangement

2. The little seagull even gnawed at the dried pieces of eggshell.

(@) chewed (b) cackled (c) swallowed (d) craved
3.  His idea of going away, made me forget all about his ruler and how cranky he was.
(a) tyrannical (b) strange (c) powerful (d) learned

Choose the appropriate antonym for the italicised words.

4.  Technology ........... is also a boon to citizens with special needs.

(a) bonus (b) bane (c) Dblast (d) block
5.  They were the steps of a man walking rapidly around the dining-table.

(a) timidly (b) silently (c) slowly (d) decently
6.  What was the selection process ?

(a) rejection (b) extension (c) termination (d) collection
7.  Choose the correct plural form of loaf from the following :

(@) loafes (b) loafs (c) loafies (d) loaves
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8.  Form a derivative by adding the right suffix to the word “appear’.
(a) -able (b) - ence (c) -ible (d) - ance

9.  Choose the correct expansion of the abbreviation IIT.
(a) Indian Institute of Telecommunication

b) Indian Institute of Theology

¢) Indian Institute of Transportation

d) Indian Institute of Technology

(
(
(

10. Complete the following sentence with the most appropriate phrasal verb given below.

The sailors soon food and water.
(a) got along with (b) stood up for
(c) ran out of (d) looked up to

11. Choose the suitable option to pair it with the word ’fare” to form a compound word.

(a) engine (b) play (c) away (d) well
12. Fill in the blank with the most appropriate preposition given below.

The child hid the stairs when the mother called her for a bath.

(a) among (b) upon (c) above (d) under

13. Complete the following sentence using the most appropriate tense form of the verb
given below.

If he her, she would have waited for him.
(a) has informed (b) informed
() had informed (d) was informing

14. Choose the most appropriate linker from the given four alternatives.
My uncle entered my house I was doing my homework.
(a) when (b) since (c) whenever (d) after

PART - II
SECTION -1

Answer any three of the following questions in a sentence or two. 3x2=6

15. What woke up the mother ?
16. What was the daily routine of Sanyal ?
17. Who arrested Smith ? What were the charges against him ?

18. What devices help David to move from one place to another ?



19.

20.

21.

22.

23.

24.

25.

SECTION - 2

Read the following sets of poetic lines and answer any three of the following.

My heart will keep the courage of the quest,
And hope the road’s last turn will be the best.

(a) What kind of quest does the poet seek here ?
(b) What is the poet’s hope ?

Began to complain when he found that, at home,
His cupboard was empty, and winter was come.

(@)  Who does “he’ refer to ?
(b) Why was his cupboard empty ?

We were taken from the ore-bed and the mine,
We were melted in the furnace and the pit

(@) Who does ‘we’ refer to ?
(b) Where are they melted ?

It never grows leaves,
Not in the winter, spring, summer or fall.

It just sits there, never getting small or ever growing tall.

(@) What does ‘it” refer to ?
(b) In what way is the tree a mystery ?

SECTION - 3

Answer any three of the following.
Rewrite the following sentence in Active voice.

You are advised not to be careless.

Change into indirect speech.
Maya said, “When is Zigzag coming here?”

Punctuate the following sentence.
the general is a woman yelled the soldiers.

3561 (NS)

3x2=6

3x2=6
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26. Transform the following sentence into a simple sentence.

Ramesh changed his dress and went out to play.

27. Rearrange the words in the correct order to make meaningful sentences.
(a) followed/suggestion/my/they
(b) hard-working/Mathew/was/businessman/a

SECTION - 4

Answer the following question. 1x2=2

28. A stranger wants to visit the Museum. Write the steps to guide him to reach his
destination.

m Museum

|;|:——> Temple

Library
———————————————— /\ @ You are here.
Bus Stop
PART - III
SECTION -1
Answer any two of the following in a paragraph. 2x5=10

29. Describe the struggle underwent by the young seagull to overcome its fear of flying.
30. Give a brief character sketch of Sasanka Sanyal.
31. How do we use technology in our day-to-day lives ?

32. Give an account of the last day of M. Hamel in school.



33.

34.

35.

36.

37.
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SECTION - 2

Answer any two of the following. 2x5=10

What is the central theme of the poem ‘No men are foreign’ ?
How are today’s women portrayed by the poet ?

Read the following stanza and answer the questions given below.
She’s a lioness; don’t mess with her.
She’ll not spare you if you're a prankster.
Don't ever try to saw her pride, her self-respect.

She knows how to thaw you, saw you - so beware!

i)  Pick out the rhyming words from the above lines.

(

(i) Write the rhyme scheme of the given stanza.

(iii) Identify the figure of speech employed here in this stanza.
(

iv) Pick out the alliterating words in the fourth line.

Paraphrase the following stanza.
At night the house seems to be alive,
Lights flicker on and off.
I am often tempted to go to the house,
To just take a look and see what it is really about,

But fear takes over me.

SECTION - 3

Answer any one of the following. 1x5=5

Rearrange the following sentences in coherent order.
i)  The King of Naples and Antonio repented the injustice they had done to Prospero.

ii)  Before Prospero left the island, he dismissed Ariel from his service.

(
(
(i) He showed him his son Ferdinand playing chess with Miranda.
(iv) Our food lasted till we landed on this desert island.

(

v) I will make you rich amends, by giving you my daughter.

[ Turn over
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38. Read the following passage and answer the questions that follow.

In total despair at their failure to wake Zigzag, or at least stop him snoring, they
shut themselves in the bedroom that was furthest away from Mrs. Krishnan’s studio
where Zigzag was creating the terrible din. Mrs. Krishnan was just unraveling a roll of
cotton wool to stuff in her ears, when they heard their maid, Lakshmi, shrieking as if
she had been electrocuted.

(i)  Were they able to stop Zigzag from snoring ?
(i) Where did they shut themselves ?

(iii) What was Mrs. Krishnan trying to do ?

(iv) Who is Lakshmi ?

(

v) How did Lakshmi scream ?

SECTION - 4

Answer any four of the following. 4x5=20

39. Prepare an attractive advertisement using the hints given below.
Raj Apparels - Aadi Sale - 40% - Special combo offers - Buy 1 Get 1 - West street -
Madurai.

40. Write a letter to the Manager of a popular children’s magazine, ordering subscription
for your school library.

41. You are Aruna/Akash, the Literary Association Secretary of GHSS, Madurai. Prepare
a notice on behalf of your school, inviting the students to participate in the oratorical
competition to be conducted next month.

42. Look at the following picture and express your views on it in a paragraph of five
sentences.
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43. Make notes or write a summary of the following passage.

Dragon tales are known in many cultures, from the Americas to Europe, and
from India to China. It's not clear when or where stories of dragons first emerged, but
the huge, flying serpents were described by the ancient Greeks and Sumerians.

The word ‘dragon’ comes from the ancient Greek word ‘draconta’, meaning “to
watch’, suggesting that the dragons are responsible for guarding valuables. Dragons
typically guard treasures such as mountains of gold coins or gems. Some dragons have
wings ; others don’t. Some dragons breathe fire ; others can’t. Some are only a few feet
long ; others span miles. Some live under the ocean ; others can only be found in caves
and inside the mountains.

44. Identify the errors in the following sentences and rewrite them correctly.
a) I bought an book this morning.

b) Sita goes to the market yesterday.

(

(

(c) We have not eaten anything from a long time.

(d) Sundar is either a cricket player nor a football player.
(

e) We watched the sheeps grazing in the field.

SECTION -5
45. Quote from memory. 1x5=5
Some water, coal ............. and drive.
PART - IV
46. Write a paragraph of about 150 words by developing the following hints. 2x8=16

(@) True Story - little boy named Peter - rescues his fellowmen - sees a small hole -
water flows like a stream - thrusts his finger - stops the leaking water - next
morning - people repair the hole - thank Peter.

OR

(b) Mulan - woman of courage - joins army - fights well - good leadership qualities -
leads the troops - becomes General - Doctor reveals Mulan’s identity - again wins
the battle - Emperor appoints - royal adviser - Mulan returns home happily.

[ Turn over
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47.

Read the following paragraph and answer the questions given below.

Elephants are considered keystone and umbrella species as they play a key role
within the environment that they live in. As elephants live in herds and require large
habitable areas, they tend to change the surrounding atmosphere from forests to
grasslands and help to disburse the seeds in an ecosystem that has no natural means of
pollinating the area. An elephant requires around 70 to 100 litres of water everyday.
Therefore, the elephants in dry zones and dry seasons, dig holes in riverbeds in order to
collect water and help sustain water for other species as well. The elephants” habit of
clearing the path they roam has acted as natural buffer zones when forest fires take
place.

Questions :

(a) What are the elephants considered as ?

(b) How many litres of water does an elephant require everyday ?
(c)  Where do they dig holes to collect water ?

(d) What acts as buffer zones during the forest fires ?

OR

Read the following poem and answer the questions given below.

Books are what I like the best

They’re not just toys like all the rest

That break, or get old, or don’t want to play
A book gets better everyday.

Sit down and open it - Soon you'll find

A whole new world jump up in your mind,
People and places and all sorts of things -
Dragons and princesses, goblins and kings.

Dinosaurs walking the earth like thunder,
Ancient Egyptians who make you wonder,

Books about planets and space exploration,

The truth about rocks, and the birth of our nation.

And perhaps the most interesting story of all
That tells of the Prince who is going to call,

And even a picture to show how he looks -
Now these are the things that I like about books.

Questions :

(a) What jumps out of a book to take you to a new world ?
(b) How do the dinosaurs walk ?

(c)  Why does the poet say that books are better than toys ?
(d) What sort of books do you like to read ?

-00o0-



No. of Printed Pages : 15 3562 (NS)

Register Number

Part - 111
assmrﬂg,Lb / MATHEMATICS

(sl wHmID Bl eufl / Tamil & English Version)

&Te 2jera] : 3.00 wewil CHIL ] [ Qurss wHiGluamser : 100
Time Allowed : 3.00 Hours ] [Maximum Marks : 100
lejemraet : (1) Smarsg eflamssesb sflurs odal uSeurd o eTergm ereamLSemnen
sfluriggls Camerera]b. &FsliLSletller Gapuil@mulber amms
sasrentiiiurerflib o | arnguwirg CgflellgEsem.
2) Beob deg sBUY owulomar LIHGCWL aWgesDHED
345G (HeusH@D LweTL(hgs Ceuar(hd. LILBISET eUanTeUSD S,
Quendled LweTL(HSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@SNy : Geualermsgrer mrenE LG semer CsmeirLg).

Note : This question paper contains four parts.

U@ - I /PART -1

GOy : () IS g alammssEpsEh allenL wartldse]w. 14x1=14
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1.

A={1, 2}, B={1,2 3,4}, C={5 6} wpmbd D={5, 6, 7, 8} erailed eﬁ@@ AL (LT3N

UL L eneussatley eTgl sflwumer sapm ?
(=) (AxC) c (BxD) (<) BxD) c (AxCQ)
(@) (AxB) c (AXD) (F) (DxA)c (BxA)

IfA={1,2},B={1,23,4},C={56}and D= {5, 6, 7, 8}, then state which of the following
statement is true ?

a) (AxC)c (BxD) (b) (BxD) c (AXC)

(c) (AxB)c (AxD) (d) (DxA)c (BxA)

fx)=x*>—x erafled, f(x—1)—f(x+1)=
(1) 4x (<) 2~ 2x (@) 2-4x () 4v—2
Let f(x)=x?>—ux, then f(x—1)—f(x+1) is :

(a) 4x (b) 2-2x () 2—4x (d) 4x-2

w&etligen eu@Gsser glevans Canmmsensll LwerUBhsS, b Wleans wppeden
SAGMSWL|D 9 -0 UGHGD Curg denLd@h WBdger

(=1)0,1,8 (=4)1,4,8 (@) 01,3 (rF) 1,3,5

Using Euclid’s division lemma, if the cube of any positive integer is divided by 9, then
the possible remainders are :

@@ 0,1,8 (b) 1,4,8 © 0,13 d 1,35
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A=2% DHmd B=2644263 42624 ccnnn +20 crang QarhHsslul (Herarg.

Y6 (meuaTauDled 6TEl 2 emrento ?
(=) B -yaig A -gg ol 2% yflaid
(<25) A pgLd B sioid

(8) B -pangl A - 6l 1 Fsibd

() A -<gpegl B -g5 ol 1 dlsb

If A=265 and B=264 42634262 .......... +20 which of the following is true ?

(a) B is 2% more than A
(b) A and B are equal
(c) Bis larger than A by 1

(d) Aislarger than B by 1

[ Hpliys / Turn over
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6. & Hlréd emtlulem, Bleny Hlyed wrHm ojewfl :

(SN) G el (=) epemavalll L jewfl
(&) Blya> ianfl () Hleory oiemfl
Transpose of a column matrix is :

(a) unit matrix (b) diagonal matrix

() column matrix (d) row matrix

7. ALMN -e& £L= 60°, .M = 50°. Gogyd ALMN ~ APQR erefleo £R -eir Sl :

(1) 40° () 70° (@) 30° (%) 110°
In ALMN, ZL = 60°, ,M = 50°. If ALMN ~ APQR, then the value of /R is:
(@)  40° b) 70° (© 30° @ 110°

8. uULSS 2 arereurm O -eneu enowionss Casmeanr eul L slar P -6 QsrhiCsm(h
PR erafled, ZPOQ &g

P R,
O
Q
(1) 120° (<y,) 100° (@) 110° (rF) 90°
In the figure, if PR is tangent to the circle at P and O is the centre of the circle, then
/ZPOQ is:
P R,
O
Q

@) 120° (b) 100° € 110° (d) 90°



10.

11.

5 3562 (NS)
x=11 erens CsrH&siul L CrrECsmigem FGTUTL TS |
(SN) x -2NF&5G @) enemt
(=) y -A&&5G Gaven
(@) <diyerefl euplFblFeayd
(/) (0,11) - ererm Yemell auflFGlFeayLd
The straight line given by the equation x=11is :
(a) Parallel to x-axis
(b) Parallel to y-axis

(c) Passing through the origin

(d) Passing through the point (0, 11)

tan § + cot B = 2 erafléd tan? 0 +cot? 6 - L :

(=1)0 (=) 1 (&) 2 (rF) 4
If tan 6 + cot 8 = 2, then the value of tan? 6 +cot? 0 is :

@ 0 b) 1 € 2 d) 4

24 Q&.15. 2 wyepd, 6 Qg.5. <Yy 2mLw seaflwaraflame el L
@ Fmibllemaer e Smisl Camerons wrhdlearme, GCamergdlem <,

(<) 24 Qa.16. (<) 12 Qg.15. (@) 6 Q&..5. (rr) 48 Qg.15.

A child reshapes a cone made up of clay of height 24 cm and radius 6 cm into a sphere,
then the radius of sphere is :

(@) 24 cm (b) 12 cm () 6cm (d) 48 cm

[ Hpliys / Turn over
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12.

13.

14.

1] SADGSHET AT LPETT 6 CHTETLILIBG! 2 (HESLILIL(H Iy DA GHET 2, (LPEDL_LLI
8 &b Camer LBGISHeTTs: ,&5ILHE MG erefled 1q : 1)

(=) 2:1 (=4)1:2 (@) 4:1 (rF) 1:4

A spherical ball of radius r; units is melted to make 8 new identical balls each of radius
r, units. Thenry :r,is:

@ 2:1 (b) 1:2 © 4:1 d) 1:4

100 syeyls Yereflseflen symafl 40 womibd L allewssd 3 erafled ellewssmigetler
QUMEEE S (NSHOTEIG)

(1) 40000 (<4,) 160900 (@) 160000 (rF) 30000

The mean of 100 observations is 40 and their standard deviation is 3. The sum of
squares of all deviations is :

(a) 40000 (b) 160900 (©) 160000 (d) 30000

QY BEHO T(PS5HE5H6T {a, b, ¢, ..., z} ~WND B @ eT(PSH Feumuili]
wpempuded Caira| CewLBEng. SBS TIPS X -&@ (PHOSII 6T(LPSHIHs6T6
RETMTE @ (HLULSHSTE HlHRSSH6]

(@) 15 (=) 35 @) > (®)

If a letter is chosen at random from the English alphabets {a, b, ¢, ...., z}, then the
probability that the letters chosen precedes x, is :

12 1 23 3
@ 13 ®) 73 © 5 (d) ¢



7 3562 (NS)
@& - II/PART - II

GO : eTemeuGuignid 10 claTés@néE elanwefldsalb. eflanm eremm 28 -&@
SL_Lmuwng olen wefl&Esa|b. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15. AxB={(3,2) 3,4) (5 2) (5 4)} erafled, A HMID B -3 Sireirss.

If AXB={(3,2) 3, 4) (5 2) (5 4)}, then find A and B.

16. f:N — N eremp &y f(m)=m?+m+3 erem cUeTWMIGSLILIL LT g ETMI&HSE

QRETDITE FMTL| 6T60 & SHTL_(hS.

Show that the function f: N — N defined by f(m)=m?+m+3 is one-one function.

17. m HMID n QI eTawT&eT erefled, 6ThH m -61 LoSILIL|EHEHEE 21 X 5™ erenm 6T T

5 eTemn @&EESnSS CaTeT(h (plgud ?

If m, n are natural numbers, for what values of m, does 2" X 5™ end in 5 ?

n?; N 63(Th 6MENM 6T 00T
18. @ OsrLi euflensulenr Gumrg o muliy a, =9 2
n?; n 6(1h @QTLenL_ eTagr

eremleb 3 -6ug WHMID 4 -eugl 2 MILILIGEETS HTEuTs.

n? if nis odd
Find the 3" and 4t terms of a sequence, if a, = n2 .
e if nis even

[ Hpliys / Turn over
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19.

20.

21.

22.

23.

12422432+ ...... +102 e LY sraws. QO (BHHG 22 +4%2+62+ ...+202 -an

L STeuTs.

Find the value of 12+22+32+ ... +10? and hence deduce 22+42+62+ ...+ 202

9x2+3kx +4=0 6reimm @)L FFOETUML Iq 6T LPGBIGET Gl LoHmILD FLoib erevfled

k -ar S STenTs.

Find the value of k for which the equation 9x%+3kx +4 =0 has real and equal roots.

V7 -3
A=|-5 2| eaaler —A -Wler Blevyblyed wIHM Sewilenis srers.
V3 -5
V7 -3
If A=|—+5 2 | then find the transpose of —A.
V3 -5

Yeeumeuemeupmdler AABC -udléd AD =y ang), £A -wlenr @HFLGGIL LG @M
crenr Gamdlasa, .

AB=5 Qs.18., AC=10 Q&.18, BD=15 Q&.5. wpmidb CD=35 Q&.15.

Check whether AD is bisector of ZA of AABC in the following.

AB=5cm, AC=10 cm, BD=1.5 cm and CD=3.5 cm.

(14, 10) wHmid (14, —6) W Hw YeTtaflgamer Qemens G CpirdCam g

FTUIGHEUS HTEHTS.

Find the slope of a line joining the points (14, 10) and (14, —6).



24.

25.

26.

27.

28.

9 3562 (NS)

1+ sin6
L D /— = secO + tan6
‘61@ SHEYLD 1 — sinb
Prove JM = secH + tan6
1 — sinb

@ Carersdler Upliurliy 154 .15, erafled Sigen el L b SrenTs.

Find the diameter of a sphere whose surface area is 154 m2.

@M Harw sorsCararsdenr Sjglurly 1386 .05, eafled Sigen
Loliurinlevend Sreurs.

If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface
area.

E&ESTENID STe|s@hsE 61Fsk HMID 6iFads CEmeld STems.
63, 89, 98, 125, 79, 108, 117, 68.

Find the range and coefficient of range of the data.

63, 89, 98, 125, 79, 108, 117, 68.

@ 2 arefLpp 2 (henerudern 2wy, o L ypn wHmbd CQeuelliym < rb &er
wenGw 9 Qg..8., 3 Qg.B5. wHmb 5 Qg.15. Y@Gb. 2 (H@aTW 2 (HUTEES
CoemauiL(hid @ mbL9en Ser jerallenend &HreuTs.

Find the volume of the iron used to make a hollow cylinder of height 9 cm and whose
internal and external radii are 3 cm and 5 cm respectively.

[ Hpliys / Turn over



3562 (NS) 10

U@ - II/PART - III

GO : etemeuGuignid 10 ellamss@EnéE elanwelssa|b. ellanm eremm 42 -8
SL_Lmuwng elenl wefl&Esea|b. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.
29. Acrerug 8 - el @emmeurer Quied eraseflen seurid,
B erarLig) 8 -oy SNl @enmeurer LT ereanrseflen SHewtib,

womb C ererug @QrienLliLedl. UST eTawrsafer &eaurd erefla,
(ANB) x C=(AxC)N(BxC) sflumiéga]w.
Let A =The set of all natural numbers less than 8

B=The set of all prime numbers less than 8

C=The set of even prime number. Verify that (AnB) XxC=(AXC)N(BxC).

30. A ={1,23 4} wpmb B = {2,5,8, 11, 14} eTaruien @)(hH HWTBIGET eTes. f : A — B
erenid &y f(x)=3x—1 erand GarhssiiLl(hererg). @Fsrrideer,
(i) DLYUSGOHLULLD
i) SILLeienewt
(iii) oufleng Camigsatier sewrid

(iv) euewyuLLD

< Flweupmred GMEsa]b.

Let A = {1,2,3,4)and B = {2, 5, 8, 11, 14} be two sets. Let f : A — B be a function
given by f(x)=3x—1. Represent this function :

(i) by Arrow diagram

(i) in a table form

(iii) as a set of ordered pairs
(

iv) in a graphical form



31.

32.

33.

34.

11 3562 (NS)

100 -&@Ww 1000 -G @aLGCu 11 - u@GUHL Mmarsg @ uie

eTamseTer Fn(hGed &TevTs.

Find the sum of all natural numbers between 100 and 1000 which are divisible by 11.

Eigs:  6x + 2y — 5z = 13
3x + 3y — 2z =13
7x + 5y — 3z = 26
Solve : 6bx + 2y — 5z = 13
3x + 3y — 2z =13

7x + 5y — 3z = 26

Gereu(mid LeeymitiLg Careneusafle B.Clum.el. srems.
x4 4+33—x—3, x3+x2-5x+3

Find the GCD of the polynomials, x*+3x3—x—3 and x°+x2—5x+3.

L . (U
yz y x xz 6T 60T Lo&HTenEU UG GUTHECLPGILD &TemTS.

x> 10x 10y 2

Find the square root of the expression, y_2 - 7 + 27 — - +

><N|<

[ HpLiys / Turn over
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35.

36.

37.

38.

2 -1
1 2 1 Y h : . . . .
A= [2 1 J omib B=| -1 4 | erafley (AB)T=BTAT erenuienss sflummss.
0 2
2 -1
1 2 1
If A= (2 1 1] andB=|—-1 4 | show that (AB)T=BTAT.
0 2

GCarenr @ Fwleully CapmsSlener er(pdl Hlmie|s.

State and prove Angle Bisector theorem.

(=4, =2), (=3, k), 3, —2) wHMD (2, 3) YFlweihenn (POETHETTES OlsmeHTL
Br&rsSlen LrliLerney 28 &.je@ser erafle k -udlem i smemrs.

Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are
(=4, —2), (-3,k), (3 —2) and (2, 3).

60 5. 2 wyperer Caryrsder 2 &Hul el (pBHg CQFh GSSTE 2 6TeT @
Mets @& sbusHler o &8 LHMID Siguilenr @n&ss CaTammser penmGw
38° wHm 60° erafler, aleTd @GS sbLUSGH T 2 WISNSE STETS.
(tan 38° = 0.7813, /3 = 1.732)

From the top of a tower 60 m high, the angles of depression of the top and bottom of a
vertical lamp post are observed to be 38° and 60° respectively. Find the height of the

lamp post. (tan 38° = 0.7813, /3 = 1.732)



39.

40.

41.

13 3562 (NS)

4L D 20 Qg.15. 2 dTem g 2 (haneT 6ligeud SerenTmy @Goueneruda 9 Ca.L5.
o> wrsHn@ B 2 6rerg). <7 5 @&, wHmb o Wb 4 C&.S. 2 amLw ef fblw
o crafLpp 2 Cars o (mener Bl wppenwwirs app@d Curg erpu@b Bilar
2 WTeneusds SHaTddl(hs.

A cylindrical glass with diameter 20 cm has water to a height of 9 cm. A small

non-hollow cylindrical metal of radius 5 cm and height 4 cm is immersed in it
completely. Calculate the rise of water in the glass.

7 Guriiyseild e HfsCs alym T(hES @l Lmiser wpennGu 70, 80, 60, 50,
40, 90, 95. Sl L ellvssd sTems.

The scores of a cricketer in 7 matches are 70, 80, 60, 50, 40, 90, 95. Find the standard
deviation.

Qe Frrer LseLger Wwapwits by Crride o pLLliLhdng.
(i) @uar® useLsatiaid Cr wawdliL daL &s,
(i) swdlyseier CUMHESHLOGT LIST cTaRTemITES Henl &,
(ili) swIUysellen g(HF LST cTeTenTss Slanl_&s,
(iv) wswdluyseiler sbhse 1 -s Q)(HES,
< dw Hlapsslsafler Hapsse smers Sreams.
Two unbiased dice are rolled once. Find the probability of getting :
(i) a doublet (equal numbers on both dice)
(i) the product as a prime number

(iii) the sum as a prime number

(iv) thesumas1

[ HpLiys / Turn over
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42. AB eratm CpisGar( <pw F&Hsamer A womid B Lereaflsefled Gleul hHlmg.
AB -a pHLieTertl (2, 3) ererfler AB -60T FOGTLITL IqGGNTE SHTEHTS.
A straight line AB cuts the co-ordinate axes at A and B. If the mid-point of AB is (2, 3),
find the equation of AB.

B(O,y)
A (x,0)
U@3l - IV/PART - IV
@Iy : Semensg NamdsErds@h ellenweflsseab. 2x8=16
Note : Answer the following questions.

43. () Qar@ssuul L wp&Csmeantd ABC -ullerm 585 LissmigaTen alldlsLd g TG

DLW @ allydeurss WPECHTED euamiys. (c"%ﬂ@_l &Iy eut] gj

3|6V60 G|
(<=1) 5 Q&.15. <yrperer cul L gHen enwwsHadlmpgl 10 Q.. Qgrenaveaiigyarer
Yereflull el (g Ul LGID @S asrHCarHser cuanrweb. Guoalb
QarhGasrhseafler Sermismears saumad(Hs.

6
(a) Construct a triangle similar to a given triangle ABC with its sides equal to 5 of

6
the corresponding sides of the triangle ABC. (scale factor g)

OR

(b) Draw two tangents from a point which is 10 cm away from the centre of a circle
of radius 5 cm. Also measure the lengths of the tangents.



44.

15 3562 (NS)
(=1) x2—8x+16=0 erariy @) (HLIGEF FOETUTL g6 UaTLIL LD auanrhbgl Siealler
SETENLOEN IS Fnlh)S.
360605
(=) y=2x2-3x-5 -wWen euenFULD cudIbHg SSMmars uweruBHss
22 —4x—6=0 erany FO@UT Iqenad ST&sHe, L.

(a) Graph the quadratic equation x>—8x+16=0 and state the nature of their
solution.

OR

(b) Draw the graph of y=2x>—3x—5 and hence solve 2x>—4x—6=0.

-00o0-
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Lweru(ss Celar(bd. ULBISEHT eumFelsnE Queréled
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fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

SO : Qeuelarmgsmer BrenE LiGHamers CararLg,.

Note : This question paper contains four parts.

L@&3| - 1/ PART -1

GOy : () IS g elammssEpsEh allenL waflése]b. 12x1=12
(i) Garhssuul L mremE el saild Wsa|b ghLeLuw edlenL_ulener
CarbOshds GNULHLer ellenLulenaryd Carggl er(pseyLb.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

[ HpLiys / Turn over
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1. &Y gouemweys Fner Gapurl el & &fl QElw 2 Fejeug)

(=) G Qeverra (=) BY Ceens
(@) &l i (m) @® Geilu Cadrs
The eye defect ‘Presbyopia’ can be corrected by :
(a) Convex lens (b) Concave lens
(c) Convex mirror (d) Bifocal lenses
2.  2euCsLCrm ereawrentlem &L /Gomev.
(<=1) 6.023x10~23 (<=y,) 6.024 X 10%4
(@) 6.023x10%3 (FF) 6.024x10~ 24
The value of Avogadro number is /mol.
(a) 6.023x10-23 (b) 6.024 x10%*
() 6.023x10%3 (d) 6.024x10~24

3. Brhm smremed SepLWTETD STeRTs
(=) Bl senrssiinl L o iy
(=) Bl serssliiul L @ ErsGaran
(@) Bl serssiiul L sriuf goGul
(FF) STTUGT-EDL-FRELIGD SFHSLILILL. FEOLIT
Identify the non-aqueous solution.
(a) Sodium chloride in water
b) Glucose in water

(
(c) Copper sulphate in water
(d) Sulphur in carbon disulphide

4. 50 Weargen Gamewr e GO e L6 pPOSHIL 6T @)enerssLiLI(HE M.
6 A WenGarm_Liomeng @bs @&GCLhM eudlwirg Lmidng erefley 5 HlLOlL_migetled
2 (Heur@ld GleuliLgdlen jeme
(<=t) 48000 J (<24) 54000 J (@) 45000 J (FF) 84000 J

An electric heater of resistance 5 ) is connected to an electric source. If a current of
6 A flows through the heater, find the amount of heat produced in 5 minutes.

(a) 48000 ] (b) 54000 ] () 45000 ] (d) 84000 J
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C,H;OH +30, — 2CO, +3H,0 eremuig) :
(1) TS (HNESLD

(<=, TS @M 6Tilged

(@) erssemmuils ojbln < &5nCammmLd
() r55Gamed %&8Gammid

C,H;OH +30, — 2CO, +3H,0 is :

a) Reduction of ethanol

b) Combustion of ethanol

c¢) Oxidation of ethanoic acid
d) Oxidation of ethanal

(
(
(
(

STHHILEOT FEUTFSSGT PP 2 (HEUTEUF)

(=) sriCurenanl” Gl (<) THS0 Y EHaDTED
(@) <fllered Camer () evumGaeuls

Which is formed during anaerobic respiration ?

(a) Carbohydrate (b)  Ethyl Alcohol

(c) Acetyl CoA (d) Pyruvate

“m@ﬁ@‘r 2 L HOFwellwedler shang’ eTar Senp&sLliLi(hLie
(1) adlev-erifCuwim (<=y,) eflevadlwid anmired
(@) smre Cevenr_ovle G (FF) erieum C. Q&ewred
Who is regarded as the “Father of Modern Physiology” ?

(a) His-Atrio (b) William Harvey

(c) Karl Landsteiner (d) Edward C. Kendal

Creneiim samidaar sraurliLi(hb @L b

(1) senEser (<) <A EHFTENSHET
(@) GLawrlenyl(Ha&er (FF) engLlLmesm
Node of Ranvier is found in

(@) muscles (b) axons
(c) dendrites (d) cyton

[ Hpliys / Turn over
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9.

10.

11.

4

, Camigmulen @mﬁﬁ@ 9H&rs5s sranrliLhing).

(1) <gpddlan
@) lreedenser

(<),) gl _CLrens el e

() ergdladlem

is found abundantly in liquid endosperm of coconut.

(a) Auxin
(c) Gibberellins

DNA -eeu Gleul L1 bweru(hieug) :

(=) s55M5CaHTeD
Q) 558

We can cut the DNA with the help of :

(a) Scissors
() Knife

QUT(HSSS.
1) uredelenered @GGarmeny(h

(2 Caslwlwbd

(3) rFwd

4) @@UrruS] Wb

(=1) (D-(), (2)-(iid), (3)-(iv), (4)-(ii)
(

&) (-(ii), 2)-(i), @)-(iv), (4)-()
Match the following :

(1) Polyvinyl chloride

(2) Cadmium

(3) Lead

(4) Chromium

@ (D)-0) 2)-(i), 3)-(v), 4)-(i)
(€ (D)), (2)-G), B)-(iv), (4)-0)

(b) Cytokinin
(d) Ethylene

(<) Crevi_fgever Cbms)

(FF) 1g.erémm.er. enauGaen

(b)  Restriction enzymes
(d) DNA ligases

() Eebmssailer ppener aueiésleni
urgl&dlmgl

(i) Qerltumes T ssler
aueriESlenwis LrSlsSmgl

(i)  CPFFSSTMTDE ,6VGILOT

(iv) Brbyseamer LITS&ESemms)

(<) (D-(i), 2)-(0), (3)-(ii), (4)-(iv)

(/) (D)-(i), 2)-(iv), 3)-(1), (4)-(iii)

i)  Affects brain development in children

[y
=—ey
~"

Affects the growth of reproductive system
iif) Asthmatic bronchitis

iv) Neural damage

b)  (D)-(i), (2)-0) (3)-(ii), (4)-(iv)

d)  (D)-@), )-@v), (3)-(), (4)-(iid)
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12. sflwrer @QevenTeniid HTewTd :

(<) 25CrTLlFarifg - Qeer_Grmuiwim &CrrCurGamder
OLWSIHNEG AMIDL sTavTlL(HEHDG.
aarGou  @ueawr(h FLLOODH SFHIGET
2 (heu Tl erm e

(=) sU-QlLrlgarfls - Gearl Crrwlwm @CrrGurGamden e
wpevaruiler smenrliLi(HEmg

(@) Gl LrCger M - Qaer_Grmuslwim &CrrCurGamisler
mmmgﬁm DAEMLOHG) @ revwr(h &mﬁm@mm
SIRIGEET 2 (HeUTHE-& g

(FF) eCarblaear s - Qe Crrslur @CrrCurCarder e
(PG DA(HEHD STewTll-LI(HeUSTED, (M
GLOL TN &TPD @ BT &rpLd
UM mieTeTes

Find the correct pair.

(@) Acrocentric - The centromere is found near the centre of the
chromosome with two unequal arms.

(b) Submetacentric - The centromere is found on the proximal end.

(c) Metacentric - The centromere occurs in the centre of the
chromosome and forms two equal arms.

(d) Telocentric - The centromere is found at one end with a short
arm and a long arm.

[ Hpliys / Turn over
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U@ - 11/ PART - 11

@MY : sTemeuCuienid 7 eflanmésend@ elawelldsalb. eflerm eremr 22 -&@ 7x2=14
SL_Lmwiwng el weildsa .
Note : Answer any seven questions. Question No. 22 is compulsory.
13. upgssTRIGHT UM Fm GHILL eumTs.
Write short notes on gears.

14. Lrmleri eflenerey BenLGlLUM (P ITs QFaT(h GHLROSMETE Fnmid.

Mention two cases in which there is no Doppler effect in sound.

15. 2 awer Geuliu edlifley @ewsd eueTLmISESa|bD. CLID DF6m jedlaner
T(PSIS.

Define co-efficient of real expansion and mention its unit.

16. S sanTogEmerds samLPlub Cargamenuier cllenareniis Fmms.
Worite a reaction which is used for the identification of alcohol.

17.  slurrensetlen epeanm auemnd enolienll (LSl ienel STarTliL(hb Q)L Samss
M.
Name the three types of neurons and find its location.

18. Qar(hssuul(perer LSS A, B, C, D pdlul LUTSBRISMET 0L WITETLD
ST LD.
Identify the parts A, B, C and D in the given figure.
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19. yeng 2 ulilugeibseier sTdsams ereueurm dBg Clsmerer @uigd ?

How can you determine the age of fossils ?

20. DNA aflyed Crenssg Csmpled milLiGdlem Benl (penm LILETUT(HSEET 6T(LHFIs.

State the applications of DNA fingerprinting technique.

21.  evdlyrés sped HmsHuder Cwen (STAGE) eraugl umml Slm GOILL 6T(ps)Is.

What is “Stage” in Scratch editor ?

22. o CQumrmeiadmbg Ceoqib gafldspapurearg 0.3 5. Galwug Csraeey
QarewrL alfl&Eb Cevenare @eldsliLl (B 0.2 LS. erem Cgreneailay GbLSms
goUBSHSng erafler Qurmeiler CGgranoenals samss(Hs.

A beam of light passing through a diverging lens of focal length 0.3 m appears to be
focused at a distance 0.2 m behind the lens. Find the position of the object.

@3 - 111/ PART - III

@MUY : stemeuCuienid 7 afarmagEndd edlenLwafldgEalb. ellerT erer 32 -&@ 7x4=28
SL_Lmwwns edlen_wefl&se|b.

Note : Answer any seven questions. Question No. 32 is compulsory.
23. rE0sL e smed allersEs.

Describe rocket propulsion.

24. eraflu pawCenrmadludien LweTUTHEET WTene ?

What are the uses of Simple microscope ?

[ Hpliys / Turn over
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25.

26.

27.

28.

29.

30.

(<=1) BQWITed iene&ET 6TemTE 6TeaT ?
(<) erdlCymedludlen mSFHIel LLIGTHNETS Fnmis.
(a) What do you understand by the term “Ultrasonic waves’ ?

(b) What are the medical applications of echo ?

2 Caors florageanss SHEHGD (PEMEET Tl ?

What are the methods of preventing Corrosion ?

Geriy womibd gL femear e CoumuhiEis.

Differentiate soaps and detergents.

Caumur® sms - ‘@ algdeanes sreur Geum LHMID @\ elgdHenas
smeur Geurr.”

Differentiate between Monocot root and Dicot root.

wealls @swsder GeuaflliLn el UL LD eUanFhHg LITEBISET @GD&EsHa|W.

Draw the external structure of human heart and label the parts.

UL @ Sreuralilleh ererlSemeT eueFumISs SiHem (P&SlLsglelsamns
T(PSIS.

Define Ethnobotany and write its importance.
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31. gan fflFens ey UDDH eleTsEGs.

Explain about Gene Therapy.

32.  (<=1) 100 . Bfled 25 4. sTEsmIELS SOTSFH @ SMFFD LTSS ILHSDI.

9igen sraummetien Hlenn FHISSMNSH HTaRTS.

(<) sflwr ? seupr ? (seum eratled smmdlenans S(HSHIs)

(i) e eumpailed BID LWeTLhESETm g Sl Lo(HHSISET, emi-
&(pe|lb Freumiser, yers Shuurearser, Smulpréleaiser Gumemm
senrgFesafle) o arer sanrblummellen jeTeyseT w/w 6T LSSSTe
GOLELLUBS DG

(i) seflbysedr, oBlofsdadar, Cerliysdar Curarpeuddled o erer
sanresailen Caeyser v/v ereamm @GHUALLLBhEng.

(@) A solution was prepared by dissolving 25 g of sugar in 100 g of water. Calculate

the mass percentage of solute.
(b)  True or false (If false give the correct statement).

(i) In our daily life, solution of syrups, mouth wash, antiseptic solution,
household disinfectants etc., the concentration of ingredients of solution is

expressed as w/w.

(i) In Oinments, antacids, soaps etc., the concentration of solution is expressed

asv/v.

[ Hpliys / Turn over
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U@ - IV/PART - IV

@ILY : Semensg cllamss@rsEh el wealssen. Csamauwrear @)L kisarfld
LLLD GUeDTS. 3x7=21

Note : Answer all the questions. Draw diagrams wherever necessary.
33. (1) eipsafled LwaTLBHSSULGHD Wershenn ellerdse]Lb.
S|V
(<=4) peoum, 5L, sror sdisafler LaTLsmer eUbHs.
(a) Explain about domestic electric circuits.

OR

(b) Compare the properties of alpha, beta and gamma radiations.

34. (&) () pelar SamisCsratansulien GCaTlUTHSmeT 6T(PFIs.
(i) eusrCrr allHuler LweaTur(hger FGsad @ream( Fnms.
S|60605)

(=) () e@veon QLUCLWTES Ndoaeow $E5HS (HSHSSTL(HL6n
cllemd @ s.

i @rier @QLUQUWIES odNearudear emssmer FHEHS
T(h&SISSTL(HL6m eNlersEs.

(@) (i) Give the salient features of “Modern atomic theory”.
(i) Write any two applications of “Avogadro’s Law”.
OR
(b) (i) Explain single displacement reaction with examples.

(i) Explain the types of double displacement reactions with examples.



35.
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pwaedlen &eUrgd GLTuiled @&mHS0lHaybL| U ETIBISGET &TewTLILI(Heug)
J 6T ?
AmBri urens CrmiusLgsTHY (UTI) -6ir ellenereysamnand dnmis.
S|6060F)
lg.eTeor.6r-adler 2 ulflwe psHluggieud wrg ?
@sw Crriser grhu(euamss ShEs ConbamearEhn earblargssms
BL_GLIq &ENEHEEMETE Fall)&.
SEUMTET LIWETUTL_(N&@E 2 GTeTTe (&LOHENSSEMETL] LITSISTLILISGMNST60T
S &PdDEHET FCHEID 2 Fnmis.
Why are the rings of cartilage found in trachea of rabbit ?
Write a note on UTL
OR
What is the biological significance of DNA ?

What precautions can be taken for preventing heart diseases ?

Mention any two approaches for protection of an Abused child.

-000-
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Register Number

Part - I11
FOLPS 3Mlellwev / SOCIAL SCIENCE

(sl wHmID Bl euydl / Tamil & English Version)

&Te 2jere] : 3.00 wewtl CrTL ] [ Qorss wHlibuemser : 100
Time Allowed : 3.00 Hours | [ Maximum Marks : 100
IBleyemrsHeT (1) Smargg eammsseEph slwures osesl udeurdl o arersm

cremugener FAlUTTEE CasmeaTereybd. FslLSeller Gemum(h
@muler oons samsrafliureriiLb o L algurss
Qg Mel&EsHaLD.

2) Beob oeg SmLY mwullamear WL HGEWL 6T PFeUSDHELD
S 5CHTIEHeusHGL LweaTuhESS Ceuem(Hd. LILBI&ET
auereugm@ Cueandle Lweru(hSs Couer(Hib.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@SNl : Geualearmsgrer mrenE LGHaamend Caramg.

Note : This question paper contains four Parts.
U@ - I/PART - 1
@Oy : () eweusg alamss@rsEh allenlwafldsa]. 14x1=14

(i) GasrGssunlL presmE el sefled Wga|b ghLeLw alen_udener
CambOsBss @GN HLer eleLulenaruyd Cargg er(pse,Lb.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

[ HpLliys / Turn over
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1. easdHCurdGurefer UL sar Q& Tl ulem LenL semer ereu el L g dleb
Campsigsssl ?

(=1) Gddafleva (=) 2reps BrH
(@) <GLmeur () Sj®wiren
Where did the Ethiopian army defeat the Italian Army ?
(@) Delville (b) Orange State
(c) Adowa (d) Algiers

2. @&dw prhser sepLuder UL LW FTFand ensolW(pSSTer HIerT :

(<=1) 5g9eir 26, 1942 (<=1) ;3O 26, 1945
(@) semeufl 1, 1942 () geweufl 1, 1945
The U.N. Charter was signed on :

(@) June 26, 1942 (b) June 26, 1945
(c) January 1, 1942 (d) January 1, 1945

3.  ‘FHWMTES 19rsres’ erenid mredlem <y, & flwi :

(=) seurd swranhs Freveud) (<=4,) <ASOFTD Liresr(h b

(@) iemel GlLFem () CsCeupdlymms

The author of the book Satyarthaprakash is :

(a) Swami Dayanand Saraswati (b) Atma Ram Pandurang
(c)  Annie Besant (d) Debendranath

4. ops SHarrssluler Gemarentiuder CorlLm préym @ssass LD
HlepmCeudmil L g ?
(1) Cared Slerrés (<=),) QergCam Slorrgs
(@) wewrLm Serras (FF) SEEHTET HEOEUFBISET
The context in which the Chotanagpur Tenancy Act was passed :
(a) Kol Revolt (b) Indigo Revolt
(c) Munda Rebellion (d) Deccan Riots
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FgDM] : STV SemwFFraeuser 1939 -b yah LUgsedl alleodler.
SMTEVILD :STHRIETen AenndFrenaisamer GorflssTod @hdlwreler sraefl
&5 2rs Curfler uRCsHDE).

(=) gapm LHMID STFewid @Qrew(Hb FAluTarg. < eTTed STy 6wTD
FapmiGsTer sflwurer ellerdsd @eene.

(<) FnpmI sHLTENg); T SMTESILD HeUMTETS.

(@) Fnpm LHMID SryevwTd @ raThiGL Seumrerg.

() Smpm wHMD sTrewid @QreamHCw sflwurearg WHMD ST 6D
FnDMISHSNEST FHWTET eNeTEED 2, GLD.

Assertion (A) : The Congress Ministries resigned in 1939.

Reason (R) : The Colonial Government of India entered the war without consulting

the elected Congress Ministries.
(a) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(b)  (A) is correct, but (R) is wrong.
(c) Both (A) and (R) are wrong.
(

d) Both (A) and (R) are correct and (R) is the correct explanation of (A).

QurBBESTENSS CoHTHEISHESLD

(=) QaréGeomy erifl (<=4) Caubupr(® el
(@) fadsm ol () upGeunar®h erfl
Pick the odd one out.

(a) Kolleru Lake (b) Vembanad Lake
(c) Chilka Lake (d) Pulicat Lake

Qumren Lyl &l erpg Geuermair GUmmeT 2 HUSSH LT CHTLTLjenL_wg ?

(=) e (menerd SlpmkiE (=) eramrClenl al&gi&5aer
(@) Cgen (FF) Femred

Golden Revolution is related to the production of this :

(a) Potato (b) Oil seed

(c) Honey (d) Jute

[ Hpliys / Turn over



3576 (NS) 4

8. Gaflu smHprHmd Hlmeuard ewbgleTer @)L Lb :

(S4) coflgrunsg (=) ClFemene
(@) saraflurgLorl () edliflErad
The National Institute of Wind Energy is at :

(a) Faridabad (b) Chennai
(c) Kanyakumari (d) Vizhinjam

9. WemrarenL Wb UMeuGETHM Thg SL Ol (mBg Friussamns o (HsFHs

Carardlmg) ?

() <ir9s s (=)) UBIGS FHL6
(@) @bdlws CumrsL e (FF) egepiis &Leb
Retreating monsoon wind picks up moisture from :

(a) Arabian Sea (b) Bay of Bengal
(c) Indian Ocean (d) Timor Sea

10. GuilLi Sjeusrsre CsranerGLIF erevr

(=) 1095 (<y,) 1944 (@) 1098 (rF) 1077
Disaster emergency contact number :
(a) 1095 (b) 1944 (c) 1098 (d)y 1077

11. Yeraumeuareummier erhg 2 Mfeno Dr. B.R. HDCUSST euigermed ‘@b w
Srflwed epwlier @Huibd wHmID yearor’ erer efleuflEsiubhdng ?
(<) sW 2 fenio
(<) ssgIel 2 fenid
(@) <rflueemwliysElul B Sie| sranib o fanwo
() Gersgifenio
Which one of the following rights was described by Dr. B.R. Ambedkar as the
‘Heart and Soul of the Constitution” ?
(a) Right to freedom of religion
(b) Right to equality
(c) Right to constitutional remedies
(d) Right to property



12.

13.

14.
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LEHSTE &SHHTOLBS LTHVSTEISESTEN cTMOEMET 6UGSSaUT :

(<) weyar_Gul L e 97y (<) & Sflev pridlerflL

(@) dlerGlem oL (FF) &mem LUGI6) Go oM ST60T
Who drew up the borders for newly independent Pakistan ?

(a) Lord Mountbatten (b)  Sir Cyril Radcliffe

(c) Clement Atlee (d) Khan Abdul Ghaffar Khan

@Mm poe durmerrgrrd  @sefler  elevreurer  euTTFSSETS
SINsLLGSSULHS DS

(<) wewr wresflwkiser (=) epevgen &heng
(@) aufl semssH6T () Oargg = Menger
A better economy introduces rapid development of the :

(@) Cash Subsidies (b) Capital Market

(c) Tax Concessions (d) Property Rights

sflullevers sapennsd CorHos(HESa|D

() QuiemswursGour g dFupamswursCear LT kisafler LHDHTESEm
&MU UarsS D@ epevd STFeRTomGLd.

i) smuy uewd Cyrearmeusn@ W& wWsHwu umE adlug
Qg mfih g enmwm@LD.

(ili) SHUL LD 2 (HhauTeUusDE SLS5S e(h (PSS EHELOTGLD.

(iv) afl &g @eopeurs @Qm&gL GCurg Hs smUL UamTd

Caremmidl g .
(<=t) () wogd (i) b (<) (v) LB
(@) () LG (™) () wHOID (i) UG

Choose the incorrect statements :

i)  Shortage of goods, whether natural or artificial is the root cause of black money.

ii) Industrial sector has been the major contributor to black money.

(
(
(i) Smuggling is one of the major sources of black money.
(iv) When the tax rate is low, more black money is generated.
(@) (i) and (ii) only (b)  (iv) only

(

c) (i) only (d) (i) and (iii) only

[ Hpliys / Turn over
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@& - II/PART - II

@MiLy : etemeuCGuiend 10 elamés@End@ elanLwelldseyb. lerm ereawr 28 -&@
SL_L_muwns el wel&Esal. 10x2=20

Note : Answer any 10 questions. Question No. 28 is compulsory.

15. gegw yrldlufen 2 egerrellu grassslaneans Camgl (hé sri(Hs.

Highlight the global influence of Russian Revolution.

16. 5315 sDWs Hlspenel afleuflsseb.

Describe the Pearl Harbour incident.

17. seurd alCeausrabsfen ‘Qaweur_Lrert HssrHssdler sréstlinemer ?

What was the impact of Swami Vivekananda’s activist ideology ?

18. o mdCow @nhdwuraid elleusruigeier Serrdsl ereueimrm cuasliLhSSLI-
UL (heTererr ?

How are the peasant uprisings in British India classified ?

19. Smplyr @wrafear aifwrard @hlss Ao GOILY cuenrs.

Write short note on the martyrdom of Tirupur Kumaran.

20. umeuwelp GleugliL) eTamTed 6Teme ?

What is burst of Monsoon ?

21. sl ColeTmeRTenLd GTEIMME) GTETeT ?

What is mixed farming agriculture ?



22.

23.

24.

25.

26.

27.

28.

7 3576 (NS)
&&H6U6) QIFTLITL| GTETMTE) GTEITE ? DS6T EUMSHET WTenal ?

What is Communication ? What are its types ?

s urgsrlil Cuoeorareanouie sl Hlodsreurnisetien LkiE eremer ?

What is the role played by Mangroves in Coastal Zone Management ?

@QBSWs GlqWrss seneeur ereucurm wryred CarblshiEsiumhSHpmT ?

How is the President of India elected ? By whom ?

19f&ev (BRICS) gnl LanoliL| 2 (HeUTEISHETET STTeRThIGemeTd @&DILIG(Hs.

State the reasons for the formation of BRICS.

GDP -Wiled umiseflliyerer gianmaeneT ef(HSHEHTL(HLGT 6T (SIS,

Name the sectors that contribute to the GDP with examples.

aueriais eurfl eremmed revmesr ?

What is progressive tax ?

Bg @bHwu priger Qeefluyme| Cararensuler wpsHlw Crrssn sar

wmrened ?

What are the main objectives of India’s Foreign Policy ?

[ Hpliys / Turn over
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U@ - II/PART - III
@MY : eTemeuGuienid 10 ellamésErs@ el weallGseab. el eramr 42 -&@
SL_Lmwwns edlenL_Wel&Ese|b. 10x5=50
Note : Answer any 10 questions. Question No. 42 is compulsory.

29. Gamgl L @ misener HlrliLs :
() Qasdar oCwMsar, Cwhssmede & ellpLelerena.
(i) oeuea sTH&6NO sTeRTlLHL WwFRiGeT, ORI &ET 6T 6ot
SMLP&ESLILI(H &l aTmen.

(ili) Qm&@GwS wHmDL gHmwd LHUILSEERESES QL ulaerer Goum L

T SMP&ESLILHEDSI.

(iv) @BHwur sarg pse lam GCarsameanenil BLSHW @)L 1D :

v) =@ f&smael el mbg Senwliy @bdwurele HYV -g
SANWsLLBSIH WL

Fill in the blanks :

i)  Latin America protestedthe _ of US.A.

(
(ii) The trees of the Alpine forests are called trees.

(iii) The difference between the value of exports and imports is called
(iv) India conducted its first nuclear test at .

( foundation from U.S.A. introduced the HYV in India.

v)
30. Geugy mraslwmm updl aflfleurs edlenweflGse]Lb.

Elaborate about Velunachiar.

31. s 2 sl CUTmSSETaT (WP&5HlWLs sTranhisamer alleurdlssalb.
Discuss the main causes for the First World War.

32. (=) Caumu(sg!s :
() Ceuerrewr sribg LOMID SAWLD FTiHs CsTHSESET.
(i) sremealfl CUTEGaTSS WHMD @ruie eupl CUTE@GTSF.
(<) STTETD Enmi
Slipd@ Carissl waeowrarg CQsr_iFSlunm @GeTmiserm@LD.
(a) Distinguish between :
(i) Agro based industries and mineral based industries.
(i) Roadways and Railways.

(b) Give reasons :
The Eastern Ghats is discontinuous



33.

34.

35.

36.

37.

38.

39.

40.

9 3576 (NS)

o&5$Ww pripser senuudler ey wHmID CFuduTrhEmer <yie Clals.

Assess the structure and the activities of the U.N.

1857 -y 1d yamigern CLpRISSSS 6 CHmeellEasTen SITenThi&EeneT 6T (LpS)s.

What were the causes for the failure of the Great Rebellion of 1857 ?

@ndwreldler &ipsE woHmb GoneE sLhasenrs Fnbleetsameris LD ebleTs@s.

Explain the Eastern and Western Coastal Plains of India.

B&TOWILDTESLD GTETNTE) GTETET ? DF6NT STEHEEIGEMET 61l6sEs.

What is urbanization ? Explain its impacts.

< @ppiler LoGaum SiSarrmiger LMl efleuflsseyb.

Describe the various vital powers of the Governor.

Sjaren Brhs@nler BLLnalener Cuewr @bHur Wearupmid Ceseiyme|s
Qametenguiler =iiqliLamL & SHSSHISeTLl Lil g uied(Hs.

Make a list on the basic concepts followed by India to maintain friendly relations with
its neighbours.

2_OEHOWILDTESIET FEUTESHEMET 6T (LDSIS.

Write the challenges of Globalization.

@ndurefer Celerreanr Gararensulen feo P&Hw CHTESBIHMET F(HESLOTS
(PSS

Write briefly some of the important objectives of India’s agricultural policy.

[ Hpliys / Turn over
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@DILY @ uTTamelwdD wraTelTger sresCasT®d wHmb euamruLdded wpeanGu
Blspeyseamerwd @Lmigmerd GOUEGL (& sri(heusn@ UHoTs
Sjeupennll updlu GOlLLs6er (b er(ps Celam(lLd.

Note : Blind candidates have to write only notes for the questions related to Time Line
Chart and Map.

41. SpssramuaelDONG@G STsCHTH U :

1920 g 1940 cuevpulleorer yarhHsl@ oL UL WSS gbgl
BlEpesmeTs STe&EGCEHT g6 6T(LPSIS.

Draw a Time Line for the following :

Write any five important events between 1920 and 1940.

42. @bHw cuerULSHed SPEGETEmID @)L BIFMETE GDEEHeLD.
i) Byl
(i) UrF&LT
(i) iy
(iv) Ggarfl Qgerym
(v) GeusmresTuwibd
Mark the following places on the Map of India.
(i) Meerut
(i) Barrackpore
(i) Dandi
(iv) Chauri Chaura

(v) Vedaranyam



G@MILIY : Wemeumd afearmasEndsE edlanwefléseb.

Note :

11 3576 (NS)

U@ - IV/PART - IV

Answer the following questions.

43. (=) (i) Ganr & Wer upPlwd eSlwl Wler s Fudler 2 gwibd LHHud GOl

U S.
(i) @rroalns seurdlsaflear aurpseans wHmb Curgamearser LDHM
ollemsd Gs.
360605

(<) @BSwredler srHSlwigser pLsHu (FTLESEET F5I LTS Hn samer

()

(b)

@iy

Note:

eNlen&@s. Seupdlen edllenerey wimg ?

(i)  Write short notes on Ho Chi Minh and the emergence of Viet Minh.
(i) Comment on the life and teachings of Ramalinga Swamigal.
OR

Describe Gandhiji’s early Satyagrahas in India and their outcome.

UTTepeuwmm reTel &6 euenyUl. CgrLfyemiLu elerrss@hs s
GDILIL&ET L (DD 6T(LPS@LD.

Blind Candidates have to write only notes for the questions related to map.

44. (&) Qar@ssuulBearer QBHw cumrULSHO EpssTand G)LBismers

&DSHa|LD.
i) K2 &layb

11

~"

shged ewr LGS eemm
iii) (pLOenL enam
iv) urs B ghd
SLE& QUENET (ST
) QpUGeua

i) GEmpaTLe SLDHE&MT

2

<

i
Vi

(
(
(
(
(
(
(
(

viii) Clgemenemuiledmbgl CsToss5T aueny CFwaid @rule Lirens
S|6060F)

[ HpLiys / Turn over

2x8=16
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(<) Asr@sasiul_@erer sWIPHTH cuerULGHed SDESTEID B)L rhiGemerd
GDSHeLD.

i) Oserenen

i) GsricGulimr

iii) seraflwmrg@Lo

iv) Ggeld

<

(
(
(
(
(v) arailfl <4m

(Vi) LDGUTEIITIT GUENET (&L T
(vil) &SSWT ene
(viii) eumigmer el @Lm

(a) Mark the following places on the given outline map of India.

(i) Mount K2

(i) Black Soil Region (1)
(i) Mumbai High

(iv) Palk Strait

(v)  Gulf of Kutch

(vi) Neyveli

(vii) Coromandal Coast
(

Rail Route from Chennai to Calcutta
OR
(b) Mark the following places on the given outline map of Tamil Nadu.

<

i)  Chennai

ii) Doddabetta

iii) Kanyakumari
iv) Salem

v) River Cauvery
vi) Gulf of Mannar
vii) Agathiyarmalai
viii) Bay of Bengal

-00o0-



